

City of Ketchum

March 15, 2021

Mayor Bradshaw and City Councilors City of Ketchum Ketchum, Idaho

Mayor Bradshaw and City Councilors:

Recommendation to Approve Purchase Order with Ferguson Water Works of Meridian Idaho for Water Meters and Meter Vaults for KSW Phase 4 Project.

Recommendation and Summary

Staff is recommending the council approve purchase order #25590 with Ferguson Water Works for water meters, meter vaults, and valves needed for Phase 4 of the KSW conversion and adopt the following motion:

Provide specific language for the council motion.

I recommend Council approve the purchase order #25590 with Ferguson Water Works of Meridian Idaho in the not to exceed amount of \$ 64,187.00 for the purchase of water meters, vaults, and valves for the Phase 4 Ketchum Spring Water System conversion work.

The reasons for the recommendation are as follows:

- These meters and vaults were specified to be supplied by Ketchum in contract # 20585 Phase 4 of the KSW conversion.
- This P.O. has a 10% contingency on a base bid of \$58,351.77

Introduction and History

This is the fourth and final phase of our project to abandon the old Ketchum Springs Water system project. Upon completion of this project Ketchum will be a fully metered system.

Analysis

These meters and vaults are City supplied per contract # 20585. This is standard in all our KSW contracts.

Sustainability

The recommended action will further the goals of the 2020 Ketchum Sustainability Action Plan in the following ways:

- This continues to move Ketchum to a fully metered system
- Since phase III was completed in October, we are not producing an average 11 million gallons per month.
- Water not produced represents over \$15,000 annually in power savings.

Financial Impact

This is a planned expense and will be drawn from the Water Division FY 20-21 budget.

Attachments:

Purchase order #25590 Ferguson Bid KSW Phase 4 Project

Respectfully submitted.

Pat Cooley

Water Division Supervisor



Purchase Order

Number: #

25590

Date:

3/15/2021

Vendor: Ferguson Waterworks

1761 Eldridge Ave.

Twin Falls Idaho 83301-7909 Quote Ref: LP-86326

Quantity	Item # / SKU	Description	Item Cost	Total Cost
		Please see Quote from Ferguson Waterworks		\$58,351.77
			Total	\$58,351.77

The City of Ketchum is a tax-exempt political subdivision of the State of Idaho.

Please confirm this City of Ketchum Purchase Order. (208) 726-3841.

Please Ship Above Listed Items to:

City of Ketchum 480 East Avenue N Box 2315 Ketchum, ID 83340

Order Submitted By:		
Neil Bradshaw, Mayor		



FEL #1987 1761 ELDRIDGE AVE. TWIN FALLS, ID 83301-7909

Phone: 208-735-8880 Fax: 208-735-8890

Deliver To: 132163

From: **Christopher Free**

Comments:

Page 1 of 2

13:37:19 FEB 19 2021

FERGUSON WATERWORKS #1701

Price Quotation Phone: 208-735-8880 Fax: 208-735-8890

Bid No:

B217795

Bid Date:

02/19/21

Quoted By: CF

Customer:

CITY OF KETCHUM

WATER DEPT PO BOX 2315

KETCHUM, ID 83340

Cust Phone: 208-726-3841

Terms:

NET 10TH PROX

Ship To:

CITY OF KETCHUM

WATER DEPT PO BOX 2315

KETCHUM, ID 83340

Cust PO#: 25590 Job Name:

KSW PHASE 4 PROJECT

tem	Description	Quantity	Net Price	UM	Total
355-535	********		-		· · · · · · · · · · · · · · · · · · ·
	METERS & RADIOS				
S8GLXX	LF 1 IPERL 1MG SM 6 3W	28	233,410	EA	6535.48
96353752201MI	M520M-F1-TC-X-E-MI 1P PIT W-ID/LD	46	166.210	EA	7645.66
IXXXXG8GAXX	LF 1.5 OMR2 MNCS 13L 1000G AMR	16	615.300	EA	9844.80
MFJ	LF BRZ 1-1/2 MTR FLG KIT PR	16	62.200	EA	995.20
XXXXG8GAXX	LF 2 OMR2 MNCS 17L 1000G AMR	1	800.010	EA	800.01
MFK	LF BRZ 2 MTR FLG KIT PR	1	63.830	EA	63.83
1XXXXF1DAXX	LF 6 OMT2 M/T 1FPL 100CF AMR	2	4652.080	EA	9304.16
NBGZ1RR8U	6 ZN 150# RR RNG 1/8 FLG PKG	4	20.864	EA	83.46
	METER PITS & LIDS ************************************				
S1872FSBSN	LF 18X72 MTR BX W/ VLV & ASSY CHK	25	735.250	EA	18381.25
13	18 MTR BX LID W/ TR HOLE SIDE LCK	25 25	84.250 40.250	EA EA	2106.25 1006.25
790153	18X4 INSUL PAD W/ NYL STRP HDL	25	40.250	EA	1000.25

	6" GATE VALVE				
	H				
36123UOL	6 DI MJ RW OL GATE VLV L/A	2	679.433	EA	1358.87
APDIU	6 GRIP RNG ACCY PK F/ DI/C900	4	56.637	EA	226.55
		N	et Total:	\$58351.77	
			Tax:		\$0.00

\$0.00 Freight: Total: \$58351.77



HOW ARE WE DOING? WE WANT YOUR FEEDBACK!

Scan the QR code or use the link below to complete a survey about your bids:

https://survey.medallia.com/?bidsorder&fc=1822&on=41333